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LABL o0 ALIE =55 7 5 (BR) kg 340.00
2|5 L% AL =251 5 (BR) 1 4.60
3|o& AL = 25 5 (BF) ke 1,400.00
4| T HEAL AL =25 S (BF) ke 1,350.00
5|H L (BE) il kg 100.00
6|LHL AL =25 5 (BF) ke 420.00
e—~v ALIE =55 7 5 (BR) kg 560.00
8|7~V \B () IR\ & ke 2,000.00
9 EIZIENTA LA (BE) il kg 300.00

10| BRI T — A D55 ()2 —U ke 565.00
l1[BTADHE H A SR £ dn (BF) A 150.00
12| B IE 7T H AR & (BR) A 28.00
L3[R o — A o B —h (BR) kg 970.00
4IFHNAE AL =25 5 (BF) ke 660.00
15[ A& (FR) Hiljigk kg 94.00
16125 AL =25 5 (BF) ke 970.00
17| B 3% FLIR =56 & () ke 78.00
18]~ AL =25 5 (BF) ke 67.00
19| Fd I FLIR =55 7 28 (BF) ke 185.00
20| A A LR =55 3 () ke 280.00
21725 FLIR =56 & () ke 270.00
22| AR LR =55 3 () ke 70.00
23| 7T 4w FLIR =56 & () ke 1,300.00
24|19 (FE) Hiljigk ke 144.00
25| R (FR) Hiljigk kg 278.00
26|l AL =25 5 (BF) ke 320.00
27| EA FLIR =561 5 (%) kg 55.00
281z Az AL =25 5 (BF) ke 1,850.00
29 [H I FLIR =508 5 (B ke 520.00
30| i+ AL =25 5 (BF) ke 485.00
31|h~h FLIR =508 5 (B ke 464.00
32[2=h=k AL =2 5 (BF) ke 650.00
33/ ka3 FLIR =5 F 28 (BF) kg 560.00
34| D AL =2 5 (BF) ke 1,180.00
35| AEMEE FLIR =561 5 (%) kg 820.00
36|z DxFE AL =25 5 (BF) ke 380.00
37| SV (BR) & & kg 338.00
38|WAZ ALIE =55 7 5 (BR) ke 293.00
39| B0 A FLIR = S 75 5 () kg 380.00
A0|NL ST ALY ALIE =55 7 5 (BR) kg 244.00
41| FLIE =55 5 5 (BK) ke 270.00
42|35 ALIE =55 7 5 (BR) ke 172.00
43| A7 —> FLIR = S 75 5 () ke 540.00
44| BT (B)a—TU kg 880.00
45|4EHH A ()7L vy a3I—Rbl-7e~ kg 1,600.00
46| IKHH A () 7Ly a3—hbiz/p~ kg 610.00
4T|IEAR—a o B —h (BR) kg 1,380.00
48| 7V YTy R R A T LS | (E 40.00
49[X1X7 41 —B (Bk) 7 Vv aa Kig/KEE kg 1,080.00
50|X17B () IR \& kg 2,000.00
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51|.5VB (Bk) 7> oaa KgAK E kg 1,090.00
52|HEN ey (BR) 7> vaa KiGKE o 700.00
53| Mg HUF (Bk) 7 vz KgAK E kg 1,800.00
54|75 LR =55 3 () ke 1,080.00
55|78 HHHES )z —TU 8, kg 410.00
56| KF (k) ik ke 250.00
57|1xH 4> )z —TU 8 %N 430.00
58| VYT A RDFHE G ke 580.00
59|~ —R— T DHE H A S £ dn (BF) N 939.00
60| 5 DYy )z —U 4% 375.00
612 D=1 )z —U 8, ZN 330.00
62| &L RAR (k) ik ke 408.00
63|k /= BE H AR AR £ (BR) R 470.00
64| Kb B KA ()7L v 23—kl ke 600.00
65|/ AANFERL T H AR S £ in (K N 490.00
66|HHNET AL J— b S — (BE) ke 800.00
67|F 7 A FLIR =56 & () ke 370.00
68| A H AR B (BR) A 22.00
69|55 v~ FLIR =5 & () ke 148.00
70(H A )z —U R, ke 1,370.00
T AZAKE FLIR =56 & () ke 278.00
2\ A=A T — H A S22 £ 0h (BK) 0w 450.00
13| FTIVRATF T A B (BR) & 45.00
T4 BfETeE 2 O () IR\ & ke 5,800.00
75| %3 A - H AR S A& in (K N 420.00
76| FIE I ALAT —F ) —R e psig+ (BR) %N 850.00
77\DFea—2 Lk VI REMRER A AL EER | 81.00
T8 R U0 3 /N4 — ()z—TU8 N 600.00
79| P B () IR\ & kg 2,500.00
80| L (BE) Hiljigk ke 319.00
S| IRAE—IH —F (Bk) 7 vvaa Kig/KiE kg 3,780.00
82| < FY — A (BF) & L hh ZN 900.00
83| Fbb LIV A o B2 —h (k) kg 1,700.00
84|Z1FH YT H AR R (BR) ke 620.00
85|t A TR b B2 —h (k) kg 980.00
86| /R —~o AL =25 5 (BF) ke 520.00
87| L AZ Az (BK) B HH P s kg 317.00
88| TrE 2 12 F D (BF) & LA hh 4 178.00
89lfit7L—7 FLIR = S 75 5 () A 275.00
Q0| WRL IS 7 o Ar—F ()z—TU8 & 540.00
91| BN Xy TFaRL s HAREZ &S (BR) N 580.00
921 G 7 H AR F £ i (BR) s 600.00
93[HGH T (B)=—U Ak 45 340.00
9| EH Y ALIE =55 7 5 (BR) i 390.00
95|FEXA LA ()2 —T 8 i 660.00
96|77 2 AF— (BF) 7V Kig/KEE & 62.00
97| &I ()2 —T 8 4 230.00
98| K HIKE: H AR B dh (BR) % 370.00
99| =% ()2 —T 8 [in 880.00
10035 —~> AL = 275 5 (BF) ke 520.00
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101 [k ALIE =55 7 5 (BR) kg 570.00
1024 IX AL =251 5 (BR) kg 420.00
103\ B (Bk) 7 vz KgAK E kg 1,100.00
104[E B 74 H AR & (BR) N 660.00
105[H T A (Bk) 7oz Kig/KE kg 1,030.00
106|FiS 0 — =G A o B3 —h (BR) ke 920.00
107 [/ BRANE A~ — 2T A H A SR £ dn (BF) N 950.00
108|248 E24 AL =25 5 (BR) ke 140.00
109[F =i ALIE =55 7 5 (BR) kg 850.00
BUHESS ()z—78 5 i 580.00
11BN ——aay 4 (/) WAL (BR) A 58.00
112|/ R U A () = L& kg 1,050.00
113[F LV RI—haay sy WAL (BR) A 44.00
114 | % BRI BETE H AR & (BR) N 360.00
115G L) FW H AR S £ in (K N 405.00
L1I6|A B IS T -5 50T L — A W | H ARG (B) 18 450.00
VS ESROES (BR) & L& 43 855.00
18| — 2N v 7> v 7 b S — (BE) ke 980.00
L9 EB A —X (F)a—U R, 4 1,060.00
120|587 Z e D50 (q)z—T78 5 S 1,760.00
21T E ONE T (F)a—TU 8k S 348.00
122|& ) EHEC () IR\ & ke 1,260.00
123[1,9°< (BR) 7o aa Rig/KE kg 780.00
124| RF 7V D3 H AR B (BR) 0w 990.00
125| fz e AR LS FLIR =56 & () ke 383.00
126|877 — LA H A2 £ 0h (BR) 4% 580.00
1273 T e A AT — H () 7L v 23—k~ K 48.00
128|F L F e —F =KLy s (BR) & L& b ZN 700.00
1297V —F = (ST AN —) (Bk) =i 1% 605.00
130| K0 A o S —h (BR) kg 970.00
131|747 44, P (]K) 1&l 63.00
132|467t Ty ol (BR) & L5 18 765.00
133\ RERLSABRR L s (BR) & L& ZN 480.00
134 |EKE e —XRW b o B —h () 54 84.00
1357 e~ oy ik SRpEE (BR) N 800.00
136| M4t HED (q)z—T8 N 1,150.00
137\~ —7Y) HARE &S (BR) A 620.00
138 |7 A & R H AR A (BR) % 720.00
13935 kb b AAT —x o B2 —h (k) K 75.00
140| SO F5T ()z—TU8 ke 664.00
141”3 m70E (AR —) ) & L 4% 1,380.00
142|a2—b—FY—nFHE Y (BR) S 1,800.00
143D RBEX H DX 1 H AR S in () 4% 180.00
144|509 F KA ALIE =55 7 5 (BR) ke 350.00
145|r~h2—7 D () = L& o 1,250.00
146 | SR T Hl - HIHUEDB () R\ & kg 5,900.00
147|$RTe Ol HARUEC () IR\ & kg 5,900.00
148| ¥ R I D 7=41 PP (BR) ZN 780.00
149|5 BRRA 7 i A7) — I (BF) & L& hh i 223.00
150|& UBEfKIEB () IR \& kg 1,380.00
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151 | A= ke ()z—T78 b 4 340.00
152[FFa=r—Fry—= H AR B (BR) ZN 450.00
153[Cohiu ALIE =55 7 5 (BR) kg 83.00
154| A—2 A AL =25 S (BF) ke 155.00
155 | LI 3L B ek PP (BR) 1l 69.00
156|2— A NLZT A A o B3 —h (BR) ke 1,580.00
157t E AR IV T Ty R RS LR | E 40.00
158 | % 5 7 BE e psi = (BR) 03 360.00
159 T E10 D5 (BR) & L& 4% 280.00
160[/NMETFEIVRLAZZ ()z—78 5 03 264.00
161 HAEY (B)z—U & i 410.00
162X >Fu g, AL =25 5 (BF) ke 240.00
163[LALDL ALIE =55 5 5 (BR) kg 820.00
164|F~F2—L —1F ()2 —T8 5 A 180.00
165|LE Rt (F)a—U 8k %N 240.00
1660 =i 5 H AR B (BR) 0w 530.00
167| AT DATA AT — X (—B4) B 5L 35 = AL IR S35 7T K 40.00
168/ i N 7= & (q)z—T78 S 110.00
169 [JE Z - d o (F)a—TU 8k N 300.00
170|887 —_Y— — & (B)a—U 13 433.00
1718 H AR S A& in (K ke 92.00
172l —72 H AR S E 0 () ke 710.00
173/ B — H AR S A in (K & 20.00
174|729 H 59 4Bk (q)z—T78 S 19.00
175|720 B I g — A— (Bk) & oA kLR = AT 1l 105.00
176|720 LRI A LA A—T (R) & A AL = SEPT A 105.00
177 EiFH A HARE RS (BR) kg 600.00
178|0bb0 Ak B — ()z—TU8 A 168.00
17920 NI LR D EDE (BR) B A FLIR = 2T 1l 105.00
1800 H 2 1H A (BR) T4 FLIR = EPT A 105.00
181 X723 A ()2 —TU 8 b & 180.00
182| 7 /WY R — R4 —H— (BR) T A kLR = 2 pT 1 115.00
1832 H LN (BR) B oA FLIR = T & 105.00
184|fiE LB DN ET-F (BR) T4 FLIR = EPT A 125.00
185 LB D F 2 — (Bk) =4 kLR e EPT & 125.00
186 XX (BR) T4 FLIR = EPT A 125.00
187[4FEL A b B3 —h (BR) kg 8,500.00
188 | e LI B Rk (F)a—U R, %N 368.00
189 K &3—Fk ()2 —T 8 i 185.00
190|721 > (B)a—U %N 285.00
191 | S 7 E T AEE S I A (BR) T A FLIg = 3T 1l 176.00




